Exercise 6

1. Copy and complete :-

a 2x6¢=

d 5x9=

2 What numbers are missing ?

Qa2 =16
dEE5 . = 35

3. Copy and complete :-

a 18
X 2

d 60
x5

9 75
x 4

i 419
X3

4. Find:-

a 45x2

d 144 x5

9 4x716
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3K ili=

10xH =

3x..=27
10 x....= 80

46
X Sin

86
X 2

48
xb

263

b 84x3
e '24x10

h 3x807
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Be able to
multiply up to 3
digits by 2, 3,
4, 5 or 10.

4 x8-=

40x10 =

4. =12
%10 = 210,

29
X 4

97
x3

625
X2

720
x5

68 x 4
385 x5

637 x 10.

Whole Numbers 2
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5. Curry pies are on special offer in the bakers at 86p each
Jim bought 2 of them.

How much did he pay ?
6. To carry out an experiment, q Scientist
used 150 jars, with 3 bugs in eqch jar,
_ How many bugs did she use altogether
@

7. Each week, Molly puts £38 worth of petrol into her mini.

How much does she spend on petrol over a month (4 weeks) ? 4

Flo's Flowers sold 430 bunches of roses
on Valentine's Day.

If they cost £10 per bunch, how much did
the shop take in that day ?

9. Last Christmas, Bob the binman got a £5 tip
from every one of the 260 people in the village.

How much did this bonus come to in total ?

10. These pencil cases can hold 99 pencils.

How many pencils can 3 of them hold ?

11. A basket can hold 120 apples.

There are 4 vans outside a supermarket
and each van contains 5 baskets of apples.

How many apples are there in total ?




